BALE] Y-y FRAR=Y KIKBHE RS 1/1
HIH ;2023811120 (H) 28 - FEHIFHIRAKZ —1 (50m)
No.24 B+ 50m &HikE B A L —R R A&HE 34.49
L 10T >
B & £ i & 2E KK B FH
1 HH KE B I GHEE /N4 3/ 3 37.78 8tk ( 0.61)
2 X IF BIGT S /N4 2/ T 43.75 4#% ( 0.58)
3 HER PEE B I GHiF /N4 1/ 4 43. 91 4#% (0. 60)
4 g HaK BIGAK®EH /)3 3/ 8 44. 54 5%% ( 0.70)
5 [ Ylth, BIGT 2 a2/ 2 44.517 58 ( 0.66)
6 HH G B I GHER /N3 2/ 3 45.15 5%% ( 0.75)
T KR 1&)[ B I GHifi /N3 1/ 7 45.70 5%% ( 0.73)
8 [l ME BIGT 3 /N3 2/ 1 47.73 6% ( 0.67)
9 # I %ﬂ:%f BIGT S /N4 2/ 6 48.78 3% ( 0.59)
10 KUy JEBE B I G /N3 1/ 1 49. 28 3k (0.74)
11 Ky ¥ B I GHifF /M 1/ 8 53. 74 3% (0.87)
OPN U #hsk A4 =R N3 2/ 8 42.02 7#% ( 0.89)
OPN 5% Fet FftES S ! 3/ 1 42.05 5#% ( 0.70)
OPN 0 K5 B — ~/Z /N4 1/ 6 43.58 6% ( 0.75)
OPN W& )15 Jh A h~rdk 4 2/ 5 45. 40 3% ( 0.65)
OPN #/ D5 A h~=rHR N3 1/ 5 45.70 T#H% ( 0.83)
No. 24 BF 50m HikE A LL—RREE S 30.76
L 11 -128 >
B & £ T & FE KK B
OPN ARE: 5L k%S s /N6 4/ 7 32.40 8#% ( 0.56)
OPN PNk KA A4 h=2HR /e 4/ 1 33.56 7#% ( 0.56)
OPN ik Rik 4SS NS 2/ 4 38. 31 5%% ( 0.59)
OPN -/ n&EHE A h~2Hk 6 3/ 2 38.75 5%% ( 0.66)
OPN K& RHE A4 b~ HER /NS 3/ 7 39. 31 5%k ( 0.72)
No.24 B+ 50m &HikE A A L L—R R A&HE 29.78
L 13- 147 >
B K £ T B FE KK B FH
1 A —RR B1GHR 2 4/ 8 35.76 2%% ( 0.73)
No.24 BF 50m HikE A A L L— R R K&FE 27,00
L 15U E >
BRI K 4 Fr & BE KK B FH
OPN FR¥E HERF HRUR K3 4/ 4 26. 74 9% ( 0.57)
OPN B FHuk SN K1 4/ 5 27.30 9% ( 0.53)
OPN #H #HZ FHSC =) 4/ 2 32.57 4#% (0. 58)
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